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(3) TT99S =0 S S §97 9= 90 e 2
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(5) T=5i 3= =9 § =5 f5U U 3R W [G=9R T8 &1 S| 39 @ & W A YA
FHe TSHE g1 S|

(6) TS = TN T 3 A€ A A1 Hiel ald U9 HT 3997 HL 99 9 e fHT T
Tiel W 3% 2l 9aF (6T S|
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4 Toa oA W A9 74 A 5U 70 9T $1 g FHE H1 999 F R B

(11) 3z Z19% 3 953 A90 21 Ffzgl o 2, 9 wHags o F% 99 4 FHD A g2

(12) T=a1 & FFemadyamts % g2 # fau, Tha 71 "a-oa &1 =i o safaswr
oz A% %1 fafiad A@za 721 9991 =fen| g4 Ffeairafay s el & g8+
F37 Ha9a T5A AeA # Ay 8 AFAEA 9iigd w41 SEl e

(13) UHUEEE Fa0R2 T Adfm T Fe0 % YEEA & 10 A & et Fferedy st #
47 %1 dAlFaEA Yiga Faa |- Ffeu)

(14) 97397 | %0 7 i a3 wed 77 faema wfafa 1 fof @ gm)
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13, WA fageq @ ww wek W Pl R
‘g wr e O TR W A g wm ¥

(1) &

(2) ¥m

(3) =&

4) =&

14, Sfaa w4 g9 weEd T F
TEY TI FT oo I '

wwF 15 3 16- FrefafEs 9= @F § 9fev 3k 98 T we & s o me i
FuiE FFl
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15, wed Al W fra @ e 47
(1) 4
2) 2
@3) 3

4) 1

6. ‘A €27 fwRed faEEd g@1?
(1) @ A 2T |
(2) AgAE A e E
(3) agAEE & A A Sty |
(4) =T A A9 A

17. ' W TN T sEd @ WA A SR WeE O e H g Sl

(1) = ;
(2) IS
(3) ISR
(4) STER
el HIMTETET e
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18 F-Fw T a9 g w1 W S 22, ‘' W= w1 fawared gf

(1) mTeq (1) &fto

(2) |9 (2) ==
3) aﬁw (3) FusiR
(4) FEE (4) =fga

23. R W = wgE # fou s wdw w= fotaw

19. 'S99’ = ¥ w-Q 9eERR w1 49 g 82 St wE gt R s i

1) 3 (1) wr=zmmen
(2) 71 (2) FuiemE
3) = 1 (3) =vfwmen
(4) 5 ‘ (4) T=EHEn
20, gE T AW T S W D qgEw ww e B | 24, 'SiE’ S ‘HUR' v, fAu U v @ X AR v @ faemed ws 82
: ‘ (1) ="
= 2)
™
(2) ddT «E i
A 1 (3) IR
(3) EHFA =&A } (4) ®a
(4) w8 [ :
‘ 25, ‘U9 UWNR' ®EHl % o@E FH 82
21. FHag Y= FdEUl } (1) 3T ETerd
(1) gemaEt ‘ (2) ymex
(2) @ ‘ (3) | TS
G) F= : (4) ¥ 9§ w1 T&E
(4) dfw i
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26.

27.

28.

29.

30.

MATHEMATICS

Seventeen lakhs + seventeen hundred + seventeen thousand + seventeen = How
much ?

(1) Seventeen lakhs seventeen thousand seven hundred and seventeen
(2) Seventeen lakhs eighteen thousand seven hundred and seventeen
(3) Seventeen lakhs seventeen thousand eight hundred and seventeen

(4) Seventeen lakhs eighteen thousand eight hundred and seventeen.

How many years will be required to double the principle amount of Rs. 5000/
- by simple interest at the rate of 4 p.c.p.a. ?

(1) 50 @5 3) 15 4) 20
What will be the product of a greatest 5 digit number and 2 digit greatest even

number ?

(1) 98 99 901 (2) 98 99 802

(3) 97 99 804 @) 97 99 902

How many days after Balika din, falls Republic Day ?

(1) 23 (2) 24 3) 22 @) 26
Neha's father deposited Rs. 10,000/~ on her 1st birthday at the rate of 8 p.c.p-a.

in bank. What amount will her father receive on her 6th birthday ?

(1) Rs. 14000 (2) Rs. 14800

(3) Rs. 15000 (4) Rs. 15800
SPACE FOR ROUGH WORK
0301 / Hindi Set-A 10 0f 32 P.T.O.

26,

27.

28,

29,

30.

[ sEcTion-m |
wfora

WA AE@ + TAE W o+ TA® TN = AT ?
(1) 998 @@ §5% g90 °| W HEe
(2) ¥9E @@ 37ORE E9N HW W HAE
(3) TAE oM@ HIE TR S H TAE
(4) & W@ 38RE B9 o8 A A%

4 JUEE H L H 5000 T K FHEEAT oA HI HH RN B R fAu fla
ad @ §2

(1) 50 T @5 3) 15 4) 20

5 ofl At aE | 9 Wen § 2 | ol 9 @ 4gt gu wen 4 o s
W IUEEA fRa S &2
(1) 98 99 901 (2) 98 99 802

(3) 97 99 804 4) 97 99 902

At faom & e fodl & am T feaw s #2

1) 23 (2) 24 3) 22 (4) 26

Fe % o 3 IUH wgE SFEEEaE W 10000 T 8 WANE # W A A% A w@
dql Igh Ped o feaw W IWE fud F Hwe fehat @A W ani?

(1) 14000 (2) 14800 (3) 15000 4(4) 15800

HeAT FHIWHTE ek
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31. 70 Hectograms = How many gms. ?

32.

33.

34.

35.

a 7 )70 (3) 700 4) 7000

39 students collected Rs. 525 each for picnic. It had 40 notes of Rs. 500 and
remaining were Rs. 5 notes.

How many Rs. 5 notes were there ?

(1) 95 @) 25 @) 45 @) 85

Sunanda Tai earned a profit of Rs. 17000 by the sale of pomegranates. She had
spent Rs. 7000 on plantation, Rs. 5000 for pesticides, Rs. 3000 for labour and
Rs. 1000 for transportation.

Then. find the selling price of pomegranates.

(1) Rs. 23000 (2) Rs. 33000 (3) Rs. 1000 (4) Rs 13000

The breadth of a rectangle is equal to the side of a square whose perimeter is
24 cm. If the perimeter of a rectangle is 28 cm, then what will be its length ?

(1) 4 cm (2) 6 cm 3) 7 cm (4) 8cm

There are chairs from no. XXVII to LXVI in a row at an Auditorium. Then
how many chairs are there in the row ?

(1) 38 2) 39 (3) 40 (4) 48

36. A number is divided by 15, the quotient is 12 and remainder O. If the same
number is divided by 16, what will be remainder ?
(1) 180 2)4 3) 6 @) 14
SPACE FOR ROUGH WORK
0301/ Hindi Set-A 120f 32 P.T.O.

31. 70 ¥R TW - fFay Tw
D7 (2) 70 (3) 700 (4) 7000
\ 32, weT & fow 39 faenfefi ¥ wos 525 & UHA fRUI SEH S00 T H 40 A=
T A 5 T H Al B oA, IFH S TH F A2 fHa 22
(1) 95 )25 (3) 45 4) 85
33, GAGWE A SR #1 fawt @ 17000 T w1 A9 WW FHA IWE SER W oemm
& faw 7000 ., @iwfy wear 2 5000 %, WSEd BG 3000 . A4 AGEWE =G
1000 *. @ fou 81 @ @R &1 &« faw o3 fFHan m?
(1) 23000 % (2) 33000 &
(3) 1000 & ° (4) 13000 %.
34, 24 U wffufa i ol H1 wH g F AR AFA H1 AISE 2 A HI R
28 HH B, @ @G HI @@ fohadt B2
(1) 4 ¥+ (2) 6 It
(3) 7 9 (4) 8 et
35, HERRE H TH Ui B XXVI ¥ LXVI T % %A HHi® ¢, d 59 UE § Rl
fopad e €7
(1) 38 (2) 39 (3) 40 @) 48
36. Tl WEm ® 15 ¥ 9m 3 W MR 9N @ 2 a9 §eed 12 ST 81 S§
e § 16 § 99 3 W UEa e SwEm?
(1) 180 (2) 4 3) 6 4) 14
HEA FEEE W
& ] iy
0301/ Hindi Set-A 130f32 PTO.
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37

38.

39.

What is the difference between the number with place value of hundred and
the number with a place value of one-hundredth in the number 318.43 2

(1) 30003 (2) 3003
(3) 300.03 @) 299.97

Rutuja bought 6 kg. wheat at the rate of Rs. 35 per kg., 3 kg. jowar at the
rate of Rs. 32 per kg., half kg. tea at the rate of Rs. 280 per kg. She gave a

500 rupee note to the shopkeeper. How many rupees will the shopkeeper return
to her ?

(1) Rs. 446
(3) Rs. 54

() Rs. 186
(4) Rs 64

Kolhapur—Ahmednagar bus started from Kolhapur with 25 passengers. At
Karad, 12 passengers boarded the bus and 4 women got down. At Satara, 16
passengers boarded and 9 got down. At Pune, some passengers got down. If,

at Ahmednagar 15 passengers were remaining, how many passengers got down
at Pune ?

37.

| 38

39.

31843 T HON F dHY WH F SHF A€ VAW WH B ik F wEig gy q
feram e €2

(1) 30003
(3) 300.03

(2) 3003
(4) 299.97

FGS A 35 T WA fRe w1 WA 6 fRel WS, 32 T WA el # W ¥ 3 e

SAR 991 280 % WfA fhell # I @ e fRell 9 @WAQ d gEERR W 500
E A AT &, @ FHEIR fHed T amm wEm?

(1) 446 =. (2) 186 ®.

(3) 54 = (4) 64 =

FIETR-SEHTTR a9 25 AME F1 ST PreeT® F Frebelll F72 § 12 a5t =9
ﬁm%maq@wﬁm%lmﬁmwm%j}9milgﬁ

" HD A IAA F AR AR B 15 AGN V9 ® 9, A @ F e A
IW B2

1) 25 @) 29 1 25 @ 29
(3) 23 @) 34 i (3) 23 @) 34
|
|
40. Which digits will occur in place of O and A, respectively, in the following 40, T3 TR ¥ O 90 A % ™H W HAY: FE QA sE FE
example ?
ooo
ooo xAAA
oA 1T0880
170889 i
1)ESAT 2) 1,9
(WE3Ss @ 1,9 ¢ @)
0,9
@ 0,9 @ 4,5 3) (4) 4,5
SPACE FOR ROUGH WORK FeAl FHEET W
F
0301/ Hindi Set-A e PT.0. 0301/ Hindi Set-A 5of32 PTO.
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41.

42.

43.

44.

By how much is 5% of 100 less or more than 10% of 10 °

(1) More by 4 (2) Smaller by 4

(3) More by 5 (4) Smaller by 5

Identify the figure in the series.

A®DAALADGOAA 2
@ L\
@ A\

o (@
ONOLO)

1
Rohit gets a monthly salary of Rs. 18000 per month. He spends Bth part on
4 ;
petrol, E'h part for domestic expenses and %Lh part on bank instalment and

saves the remaining amount. How much amount does he save ?

(1) Rs. 2000 (2) Rs. 8000

(3) Rs. 4400 (4) Rs. 9000

Netrali purchased 2% Itr. milk everyday for first 15 days of September. On the
remaining days. she purchased 1%2 It. milk at the rate of Rs. 52 per It. How
much did she spend in the month of September ?

(1) Rs. 1320 (2) Rs. 3120

(3) Rs. 3140 (4) Rs. 2350

SPACE FOR ROUGH WORK

0301/ Hindi Set-A

16 of 32 PT.O.

.41,

42,

43,

100 F1 5 ufawm, 10 #1 10 9fav@ & fwaa ag1 @1 21 22

(1) 4 F == (2) 4 | F=

(3) 5 9 == (4) 5 | =

FI W AF AN HFE 9 geEl
AOAALADOAA 2

@ /A
@ o\ [\

o (&
OROIO)

1 4
Afeq #1 & HE A 18000 T B SHH 5 qmﬁ?laﬂ'{.; a1 S @ 9 941

2

5 a1 3% # fFve 90 W Ed F0 B A% 98 %9 @0 Y 999 @ 9@ 98

v19 @H fHad 2nfi?
(1) 2000 %. (2) 8000 %

(3) 4400 #= (4) 9000 &
et 3 foda we @ 9@ 15 & ¥ 2@ S @y 9 99 3@ A A ' =
M 52 E W A B W § WIS @ I 3¥ & fou e T e e

(1) 1320 %. (2) 3120 &

(3) 3140 & (4) 2350 &

e FWEET wE

0301/ Hindi Set-A
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Quention 45 and 46 ¢ Answer the quastions bmd on the pletortal information, WO AR oG A6 o o P eeen s a0 wee O wedl o e A
’ mm Now of saplings TR I ' |
Chanp LR = LI
Jasmine ¥ \ s L
\ . ¥
Scaler I picture = 10 saplings e l e “.) ‘N f
45, How many saplings are there of Hibicus, champa and Jasmine in all ? Cas, wRER, W W A e e fee a7 -
) 70 @ 80 ! ! (1 70 ‘ (2) 80
@ % @ 1o 3 90 A @ 110
i : d.
46, :l:wm-me number of saplings are there of Rose and Jasmine than that 46, T & Wt @ O @ wen S @ o s
- : @ 20 @ I
20 @ 10 : | :.ﬁttﬁ"“* o, " * i 2 .quf
3 : \ P () RO A s 30
@) so @ 30 i
. E i ﬂ!ll:‘_\';"?‘t
- 1 24
bl 1 ; L ; ; Lo (
‘ -#?ﬁ.ﬁ*iﬁlm=-}&_‘bﬂ; ‘1:4 L e sl 47_25“‘5_3“1*.1004
: ‘Write the correct number in the box. L:w ' jo8 T (Y
| W 27 @ 5 p i o f Qpszeng

- 125
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| #7
' ; - 4 e yotE GO TR
48. What decimal fraction does the shaded portion in the following figure indicate ? f |aw, Fret st w6 apt T A
b 4
|
| \\
| .
‘ i l () 4.16
: ot = 3) 0.25 )
M o @ 3 025 (@ 4.16 | (15 @3 ‘
; ‘ aitad s @ ft
49, Aditya was born on Saturday 14th Jul, 2001, What was the day on his elghtth ’ 490, sufe a1 w14 e 2001, e g aue afeel
birthday ? ' , RURIIL _
(1) Sawrday (2) Monduy ‘ ‘ (1) iR (2) HwEr (3) HETEI (4) FprET |
} 4 Wednesduy. e ’ :
50, Which symbols will occur serially in the boxes in the following expression ? e20100505 =48 g LR

eQ201005035=48 1)+ o=k (@)% k=

) + = X + @)% = @)+ X,y = (4) oy Ky = . . TN - .
. C sy, 279 W W WS WF W N H1 LA TEH AU {AH 3
51, What will be the product of the place value of the digit in ten thousands place e ) Ewe fREE € ‘
and the face value of the digit at the thousands place in the’ nymbor 58279 % . (1) 1000000 - @1 009
(1) 1000000 (2) 1000 1 (3) 10000 () 100000 : )

52, Joseph used 20 quires out of I Ream for xerox, How many she.em are remaining
with him ? . i

M2 @0 @ 12 (4) 480

(1).24p . Q295

SPACE FOR ROUGI WORK
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. 1 3 1
- How many meters should be subtracted from 105 m and g m to get 55 m,

56.

« What is the sum of all divisors of 133 ?

(1) 134 (2) 145 (3) 160 “) 151

as remainder ?

(1) 475 m (2) 525 m (3) 425 m (@) 575 m

In a company, 95 workers work on same salary. The company needs Rs.
807500 per month for their salary. Then how much salary does every worker

get ?
(1) Rs. 9500 (2) Rs. 9400 (3) Rs, 8400 (4) Rs. 8500

Of the following, which object will have all its surfaces in square shape ?
(1) Brick (2) Compass box ;

(3) Cubical box (4) Maich box

57. If the below given ‘figure is folded to make a cube, which colour will not come
adjacent to red colour ?
red
violet
blue
green
yellow | orunge
(1) Blue (2) Orange (3) Yellow (4) Green
SPACE FOR_ROUGH WORK
0301/ Mindi Sel-A 22032 P.T.0
L ’

53,

55,

133 @ vl fasrorrl @1 deer fad @i

(1) 134 (2) 145 (3) 160 @ 151

A g Wt g 9 e # dee § @ feed W WeR W AR wie i 9
@7

ORERE (4) W1 =

(2) wan = (3) wan =

Rl o 1 05 TomE WA avEEE Wk i #1 T e g w8

WE 807500 ® @d w ¥, @ weAw wOEL K AA fREA B?

(1) 9500 (2) 9400 (3) 8400 (4) 8500

P W R e o g @ Wi ge aniEr e #2

(2) U Al
(4) mfeg afq

(1) %
(3) HEEARRR T

A A T TR B WEE G R W e O % g 9o § fE d

57.
F |G A S wea?
et
St
“frem
T
e | A |
(1) fren (2) =t (3) e (O 0
weeT ETATHIA!  TheRT
03017 1Hindi Set-A 230132 oT0
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58. For the following fractions, which <, >, = of the signs will be appropriate ?
7 13— 91
U705
@D < = 2 < <
A == @ <, >
59. Sonali purchased a house at Rs. 37,50,000. She made furniture for the house
worth Rs. 7.25,000. At what price should she sell the house to gain a profit
of Rs. 525,000 ?
(1) Rs. 5,00,000 (2) Rs. 50,00,000
(3) Rs. 44.75,000 (4) Rs. 49,50,000
60. The diameter of a circle with center B is the radius of circle with center A. What
is the length of seg. AB ?
(1) 3 cm (2) 6 cm
o 3) 12 cm (4) 2 cm
61. What is the sum of odd prime numbers between 1 to 50 ?
(1) 328 (2) 326
(3) 303 @) 273
62. Dhanesh boarded a train at 11 o'clock in the afternoon, then at what time did
he board a train as per 24 hour clock ?
(1) 11 PM (2) 21 o'clock
(3) 12 o'clock (at night) (4) 23 o'clock
SPACE FOR ROUGH WORK
0301/ Hindi Set-A 24 0f 32 PT.0.

58.

59.

60,

e fo 3 e A dee § <> = ¥ @ 34 4 faw 9 @i

7 1391
0705

@D < = QL=<
3 > = @ <, >

TR ¥ TF HE 37,50,000 € H @O IW HEM H (A€ IEA 725,000 F F
SR T @ G TEE e fee vwd o 3= Em, 39w uiE we
*94 T @H A
(1) 5.00,000 =

(3) 44.75,000 =.

(2) 50,00.000 =.
(4) 49,50,000 =.

Biﬁaaréaﬂwmmsﬁﬁl‘aaAzﬁzméqaaﬁﬁmTﬂﬁi‘@u
1 7E fwaw @m?

1ﬁsoaﬁﬁﬁwwrgwa@rsﬁm‘1ﬂﬂmm

V(z)sﬁtﬂ
(4) 2 |

(1) 3 &t
(3) 12 ¥t

61.
1) 328 @) 326
(3) 303 @) 273
62, TAE @ W& 11 a3 Pw EWE ¥ S8 @ 24 W2 AN U FFER T fH
T wmE ° der? :
(1) AR 11 T (2) 21 T
(3) w12 ;™ (4) 23 =9
FesT WIS O
0301/ Hindi Set-A Bor32 PTO.
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63. In a school, everyday 70% students out of 2300 perform Suryanamaskar. How 63. Tl fammem % 2300 Fnfdei & § 70 whawa faenedi &% 49 g6 FHeRR § FEAE

many students do not perform Suryanamaskar ? I F@ B A fEad faadl 9F GmeEm § el @ @l
(1 1610 2 690 ' (1) 1610 (2) 690
3 59 4) 1410 | (3) 590 ! @ 1410

64. By how much a 5 digit greatest number formed using digits 0, 2, 3, 9, 7 only 6. 0.2,3,9,7 7 5@ T @ @ wAm = 3D A 7 W9 A A wow
once i greater than a five digit smallest number formed using the same digits? T A% B W @ AW wam w W9 o A 54 F S go d fead
(1) 117699 i @) 94941 f a4 72 '
&) 76923 R . : 1y 11 76 99 @ 94941

3) 76 923 (4) 76 941

65. Which number from the given options when divided by 5. 6, 7 will give 4 i ] ' - o )
g, e famage '@‘ss.ﬁqﬁﬂaﬁaﬂ#wﬁs,sJﬁmﬁ-mﬁ.Wm
5 . Beher ¥ i i '—'“t.._",l,;’ R s l.-ﬁ*n A
W 42 @2 ! - R . ) e o,
3) 206 @ 210 (3) 206 « g ) 1220, s

@Mmmofmmﬂminmeadjmﬁgm'? C

ey ! et

o *ﬂ' P — A R ek . ek R
m 10 @ 9 A
o e ]
3 8 e 7 .
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67, Vishwas dousht 5 doren copies at RS 10 per copy. S copies were found
demased He sold the remaining copies &t RS 71X In this teasaction, how
mach profit per copy & be make ?

) R I3 @Rs 3 @) R 115 @ Rs 12
B TxS-2x3+4=7
i 21 @67 Q) 33 @ 1127

.

ﬂmmd:mﬂhl@l%@ii‘s&dﬂmﬂuw
mumy Baers of waser & required ® make & fall ?
@) e @ G) Sl @) 0L

. f L <
TO Siriom dnives 2 vebick af e spexd of §5 kmfbr. For bow meny bosrs will

W T @ 6 3

o TN ItT S OIRI s SN SN = 85T ==
RS TE Sk s TS S s = . S s B
Il i o =)

13 @3 @) 115 @ 12
68 TxS-2x3:3= FoE?
) 21 Q@ 67 & 33 & M7

e R HI SN s msshsmSs. w=wIwd

L .2 R R T 5B S R

@

@ 60 (el ] G) so

ASsEsHEREIRImSISTIs=
ER R R ==

OLTL o i
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72,

How many number of tiangles and squares are formed in the given figure ?
m 42 @) 5 S
Q) 5,6 ") 44

~ What will be sum of first and last number if 32976, 23976, 32796, 23796 are

arranged in ascending order ?

Q) 56 772 2) 56 392
(3) 56 952 @) 56 772
3 1

74. How many times 7 should be added to % S0 as to get the answer 7 ?
1 49 (2) 48
Q3 7 @) 14

75. The population of Sakoli village is 1,54,389. 1, 08,457 people have mobiles.
How many people do not have mobile ?
(1) 45,832 (2) 45,932
(3) 45,942 (4) 55,942
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